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Jenkins Github 915, Unit Test Xl S3}
« AWS EC2 0|&Z5l{A| Jenkins AIE
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1. 7li'&=t4 (CI/CD, UT)
Jenkins Github ¢1E, Unit Test X}-58}

& General Webhooks | Manage webhook

Access

Settings Recent Deliveries
Ay Collaborators

) Moderation options v
We'll send a POST request to the URL below with details of any subscribed events. You can also specify which data
format you'd like to receive (JSON, x-www-form-urlencoded, etc). More information can be found in our developer

Code and automation K
documentation.

¥ Branches

© Tags Payload URL *

E+ Rules v http://52.79.177.143:8080/github-webhook/
@ Actions v

Content type
l &5 Webhooks

L1

application/json
Environments

Secret
% Codespaces
= Pages
Security Which events would you like to trigger this webhook?
@) Code security and analysis @® Just the push event.
&> Deploy keys O Send me everything.
Secrets and variables v

(O Let me select individual events.

Integrations

(@ GitHub Apps Active

We will deliver event details when this hook is triggered.
B9 Email notifications

C2 Autolink references Update webhook Delete webhook




1. 713 (CI/CD, UT)

Jenkins Github ¢1E, Unit Test A}=35}

Webhooks Add webhook

Webhooks allow external services to be notified when certain events happen. When the specified events happen, we'll
send a POST request to each of the URLs you provide. Learn more in our Webhooks Guide.

v/ http://52.79.177.143:8080/qgithub-... (push) Edit Delete
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Jenkins Github ¢1E, Unit Test A}=35}

(v) #10 (2024.6.8.27 4:16:56)

Build History F0| v
Q Filter... / ‘ » > Started by GitHub push by Kingscrown
@ #_3 @ This run spent:
2024. 6. 8. 2T 3:10 * 6.4 sec waiting;
e 29 sec build duration;
.:\ #_2 ¢ 35 sec total from scheduled to completion.
2024. 5. 25. 2= 2:45 (}git Revision: b253241cf9c¢fa99029¢1f039d587c00e6814fc57
Repository: https://github.com/KIngscrown/OOAD_T4_DVM.git
() # * refs/remotes/origin/main
2024.5.25. 2% 2:26
Test Result (A7t ¢l&LICH
N Atom feed (T1H|) N Atom feed (AL1H) </> Changes
1. build.gradle Edit for Success3 (details [ githubweb)
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2. UT 2! System Test AlLIZ|2 2! Z}

Unit Test Case - Zx| 2+

7tEZ ZHX| A| PaymentManger2| pay()7t & S2tst=X]. ..

@Test =
public void testPay2() {
Card card = new Card( cardNum: "4444", cardType: "", balance: 0);

asseptFalse(paymentManageP pay(card, totalCost: 4 f), message: "Payment should be Failed");

assertTrue(paymentManager.pay(card, totalCost: 100.0f), message: "Payment should be successful");
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Unit Test Case - Zj1&Ql 2t

o SIXH XtE7|0f| XD} YEHs S2b0HE =XSH=X| M| 35H= Stock2| checkStock()O]
xt

@Test =
public void testCheckStock() {
assertTrue(stock.checkStock( item_code: 1, item_num: 5), message: "Stock should be enough");

assertFalse(stock.checkStock( item_code: 20, item_num: 6), message: "Stock should not be enough");
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Unit Test Case - 2153 C 2

o SAXH KHEEZ|Of| M7} JBHE +TRE EXSt=X| M|33t= VerificationManager2|
verifiyVCode()7t & S&st=X]...

@Test =
public void testVerifyVCode() {

assertTrue(verificationManager.verifyVCode("1234567890"), message: "Verification should be successful");

assertFalse(verificationManager.verifyVCode("1234567891"), message: "Verification should be Failed");
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System Test Case - 31X DVMOI| A2X}71 LOJE 5|H5t=

0§ Al -> 7FE Ji7H2 DVME| RIXIFE HF -> FIEMS
i té 5': __I.LDHI-IE =<E:I

v 28 0§ A|E -> 7HE 72 DVMQ| QXIEE HZ -> FHZ2IH7| ->
MainUI

Vv 22 F0j AlE -> 71& 772 DVMe| IX|EE & -> FIEHS
-> Xt = dl iEZTSEFE ZX| A1 -> MainUI
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4. OOD (2040) Of| M B1Z4/4£H =l HE Hp
Class Diagram at Stage 2040.

- <<enumeration>>
MessageType

req_stock

resp_stock

req_prepay

resp_prepay

- Message

+ type : MessageType
+ src_id : string
+dst_id : string

+ content : HashMap

= OtherDVM

+ name : string
+ coor_x : int

+ coor_y :int

CommunicationManager

- sendMessage(msg : JSON) : void

- createMessage(msg_info : Message) : JSON

- processMessage(msg : JSON) : Message
+ requestPrepayToDVM(msg_info : Message) : bool
+ requestCheckStockToDVM(msg_info : Message) : Message

N

- CardReader

+ getCardInfo(card : Card) : Card

41//

S —1

- Controller
" otherDVMs : OtherDVM[*] — E VerificationManager
cardReader verificationManager
) L . . 1> . vCode : List<string>
+ selectltems(item_code : int, item_num : int) : void :

+ checkStock(msg_info : Message) : bool
+ calculateDistance(coor_x : int, coor_y : int) : float
+ minDistanceDVM() : void

paymentManager

- PaymentManager

+ pay(cardinfo : Card, totalCost : float) : bool

=

UlManager

- Ultype : string
- errorMsg : string

+ display(Ultype : string, item : Item, dvm : OtherDVM, vCode : string) : ltem | string
+ displayError(msg : string) : void

- mainUldisplay(items : ltem[*]) : ltem | string

- payUl_1(item : ltem) : string

- payUl_2(item : ltem) : void

- prepayUI_1(item : ltem) : string

- prepayUl_2(item : ltem) : void

- locationInfoUl(dvm : OtherDVM) : void

- vCodeUl(vCode : string, dvm : OtherDVM) : void

- dispenseUl(item : Item) : void

S

communicationManager

+ insertCard(card : Card) : void
+ inputVCode(vCode : string) : void
+ checkPrepayAvailability(msg_info : Message) : bool

+ dispenseltems(item_code : int. item num : int) : void

=

Item

+ name : string
+ code : int
+ quantity : int

+ prePayed_amount : int

Stock

- items : ltem[*]

+ checkStock(item_code : int, item_num : int) : bool

+ getltem(item_code: int): ltem

+ updateStock(item_code : int, item_num : int, isPrepayed : bool, vCode : string)
+ itemList() : items

+ verifyVCode(vCode : string) : bool
+ saveVCode(vCode : string) : bool
+ createVerificationCode(void) : String

- Bank

Card

\’ - cards : Card[*]

+ checkCardAvailability(cardinfo : Card, totalCost : int) : bool

+ cardNum : string
+ cardType : string

+ balance : int
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Class Diagram From Code

SocketS
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Socket
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t(Socket, MessageCallback) void
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(String) Message?
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BufferedReader
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Socket
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0 d
(MessageCallback) void
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1

‘
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Document
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4. OOD (2040) 0i|M HE /e & Zi|
UlManager at Stage 2040.

UlManager

- Ultype : string
- errorMsg : string

+ display(Ultype : string, item : Iltem, dvm : OtherDVM, vCode : string) : Item | string
+ displayError(msg : string) : void

- mainUldisplay(items : Item[*]) : Iltem | string

- payUl_1(item : Item) : string

- payUl_2(item : Iltem) : void

- prepayUl_1(item : Item) : string

- prepayUl_2(item : Item) : void

- locationInfoUl(dvm : OtherDVM) : void

- vCodeUl(vCode : string, dvm : OtherDVM) : void

- dispenseUl(item : Item) : void
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Uizt
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4. OOD (2040) 0i|M HE /e & Zi|
Controller at Stage 2040.

Controller

- otherDVMs : OtherDVM[*]

+ selectltems(item_code : int, item_num : int) : void

+ insertCard(card : Card) : void

+ inputVCode(vCode : string) : void

+ checkPrepayAvailability(msg_info : Message) : bool
+ checkStock(msg_info : Message) : bool

+ calculateDistance(coor _x :int, coor v :int) : float

+ minDistanceDVM() : void

+ dispenseltems(item code : int, item num : int) : void
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4. 00D (2040) O] A B

M2 at Stage 2040.

<<enumeration>>
MessageType

req_stock
resp_stock
req_prepay
resp_prepay

Message

+ type : MessageType
+ src_id : string
+ dst_id : string

+ content : HashMap

OtherDVM

+ name : string
+ coor_ X :int

+ coor_y :int

CommunicationManager

- createMessage(msg_info : Message) : JSON

- sendMessage(msg : JSON) : void

- processMessage(msg : JSON) : Message

+ requestPrepayToDVM(msg_info : Message) : bool

+ requestCheckStockToDVM(msg_info : Message) : Message
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4. 00D (2040) Of|A] HZi/4XEl BEL Xq|
Item at Stage 2040.

Item

+ name : string

+ code : int
+ quantity : int

+ prePayed _amount : int
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Item

tem




4. OOD (2040) 0i|M HE /e & Zi|
Stock at Stage 2040.

Stock

- items : ltem[*]

+ checkStock(item_code : int, item_num : int) : bool

+ getltem(item_code: int): Item

+ updateStock(item_code : int, item_num : int, isPrepayed : bool, vCode : string)
+ itemList() : items
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4. 00D (2040) 0| A H1ZI/AXEl B2

VerificationManager at Stage 2040.

=

VerificationManager

- vCode : List<string>

+ verifyVCode(vCode : string)

. bool
+ saveVCode(vCode : string) : bool

+ createVerificationCode(void) : String
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4. 00D (2040) Of|A] HZi/4XEl BEL Xq|
Bank at Stage 2040.

Bank

- cards : Card[*]

+ checkCardAvailability(cardinfo : Card, totalCost : int) : bool
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FAE24d (Maintainability)
=t (Scalability)

£l2A (Intuitiveness)
=3} (Encapsulation)

342 JHet (Parallel Development)



o <[HTiE AZEQ0] AJAES
« TAIEM (Reusability)

e SX|EHLM (Maintainability)
. SI%A (Scalability)

e LM E2= = ALi= E HME




o B JHHt (Parallel Development)

» Package BE= 7jj2<

.

E7|S O|ZCt

FLFe| At

L =
 ©O

FHA R2[7} dZst

3]

040



S (Complexity)

X 7| 0{21& (Steep Learning Curve)
M& X5t (Performance Overhead)

1l M7 (Over-Engineering)

C|HHZ 0{2{] (Debugging Difficulties)

Xt A2 (Resource Consumption)
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